Student Name; J#:

CSC 323 Algorithm Design and Analysis, Spring 2017
Instructor: Dr. Natarajan Meghanathan
Quiz 2 (February 7, 2017) Max. Points: 25 Max. Time: 15 min.

1) (10 pts) Solve the recurrence relation: M(n) = M(n-1) + 5 for n > 1; M(1) =2
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2) (15 pts) Solve the recurrence relation: M(n) = M(n/5) + 1 forn> 1; M(1) =2.

K g% >\
ek =5 k.70
Mgk = MLSKF‘D +1 £v k7O
Mm(s°) = = _\
for ¥ Kok~

Lok ws Alre. W Tecuwsvens
Misk) = M[s¥) +|
Mk = mlsk?) +)
als®) = Mgk Fue =
M(5% )= mls¥2) + )
Mis¥) = wm{s® 2 ey =

g0 wlsE i —— gt )

C\‘\m mis®) =2

Mgk )+ 2

(s 43

b K-C = o
U) ") K- e k = V\\E‘;D) +
mls®) = wm(s ) +

Mg = 24w N
Vedouog 51 win 0, aed WAk g
MLr\j =~ XX lhg; = e‘L[QJQ




